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1 Study of Home Science is most important for
(1) School children (2) Bazaar

(3) Society (4) Government
ﬁwﬁﬁwmﬁ—ﬁaﬁa{waﬁr—m@%?
(1) P wet ¥ R @ @R ¥ f

() @i % g @) @K % R

2 In Barly years what name was given to Home Science 7
(N Domestic Science (2) Household Science
(3) Household Economics (4) Al abové
mﬁﬁﬁ—ﬁﬁﬁﬁmw%mmm ?

(1) NEw T TR TeuEe WEW

() TREETE g 4 wﬂaa_aﬂ

3 Which ‘one of the following is an individual contact teaching method ?
. (1) Home Visit (2) Poster,. .
(3) Lecture - om :  (4) - Telgyision
Gt & @ Bl e W B2 e
(1) = W Ik (@ U

(3) wF e (@) Tl
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The rooms in privatél :;-I:c;ne of a house are —
(1) Kitchen-Varanda

(2) Bed-room, Study room

(3) Drawing room

(4) Garden-Varanda
W d ol A oar w @y ¥
(1) <EER-=wE

@ 97 By, R*a“r_ w9

(3) <% =

@) e

5 Home Science is a field of knowledge and service primarily concerned
with — '

(1) Strengthening family life

(2) Empowering:women

(3) Empowering women and children

(4) Strengthening “society

- 9 9 A9 W F, i ger e ¥ welw ¥ -
(1) wRafeE W & wd T 3

) =Rl B wwEr T A

(3) wieemek qur W= H Wy T H

(49 uART @ gRd TIW F
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6 The following is an audio visual aid -

(1) Telephone (2) Song

(3) Drama (4) Flip Book
fr & § @l O, 39 g wnnl ¥7

(1) =N (@ T

3) g - @ fwu g&

7  Rickets results due to deficiency of -
(1) Calcium - () Vitamin™D'
(3) Calcium and Vitamin D' (4) Hormone
Prdeg Rouat & ¥ UM o BT B 7
(1) i @ feRm 9
) Hfemm w@ fafm <S¢ @ wEA

8  Animal protein souree is better than vegetable protein source because it
contains — '

(1) More Proteins
(2) . More Amino Acids
«(3) " Better balanced Proteins

(4) Better balanced Amino Acids |

Wy WEN G, T WeN W ¥ 9o o, i s d b -
1 ot o

() oftm onlEl aw

(3) v dghm W

@) w wgfem iy o
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Beri-Beri is caused due to deficiency of —

(1) Riboflavin (2) Niacin
(3) Thiamin () Biotin
T[T W Rowt o F waw ko

(1) TEwaRe @ fefe
3) awfi @) wEéT

vitamin 'K'?
(1) Blood Transfusion (2) Blood, Coagulation
(3) Blood Regulation (4)~Blood Circulation

Fra % & dmr wo Rl P Fod F R ol i
(1) o woF § 2 WG Y

(3) T fpiEm § 4) @ duem ¥y

11 Which of ¢the following Amino Acid is essential for human ?

(1) Methionine | (2) Sering
() Tyrosine (4) Cystein

B & & Sl o v & Ry v 3
(1) ks 2) &

@) =R @ ﬁgﬁ

EC53 A] 5
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12 The sweetness of milk is due to presence of —

(1) Lactose (2) Casein
(3) Lipase .(4) Riboflavin
gaﬁﬁaqﬁwﬁ&%aaﬁwﬁaﬁr%ﬁ?ﬁ%?
V) e @ e

(3) vt ) R

13 Protein percentage (gm) in §oyab9an is —
(1) 10-15 (2) 20.25
(3) 30-35 (4) ‘4045
e ¥ WA R wfiveer (B
(1) 10-15 @ 20-25

() 30-35 (4) 40-45

14 As per 2010"RDA daily additional energy and protein requirement during
pregnancy is as follows -

(1)~.300 keal, 15 gm (2 350 keal, 30 gm

(3) 350 keal, 23 gm @ 300 'lécagp , 30 gm
2010@A%agm?wﬂaﬁw%m%fﬁﬁwﬁaﬂrﬁﬁﬁaﬁwﬁﬂwmﬁﬁaﬁ
oM & - E

(1) 300 Po.deid, 15 o () 350 Rrderl, 30 7

(3) 350 fE.werl, 23 W | (4 300 f5.%T9, 30 7w

EC53 A] 6 [ Contd...




17

The sugar present in fruit is called —

(1) Glucose (2) Sucrose

(3) Fructose - (4) Lactose
Bt ¥ wE Y e T wewd ¥ -

(1) T @) TE™
@) W | @) R

- The storage fonn of glucose in the body is —

(1) Glycerol 2) Glycogen
() Galactose | @ Gllicagon
MR & @ @ dafea v ¥ -

(1) P | (2) TeigHST
(3) TR ) ’Ffﬂ'fﬁ

Which~of the following is the constituent of rhodopsin ?

(1) Vitamin A @) Caldium
COEuE g
(3) Vitamin D (4) Iron

oy -

Prer ¥ % den Gt @ e b 7

(1) Tt A _ ) ‘aaf‘@mq
3) fefm D (4) -WiE a9

ECS3_A] 7
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18 Which of the following food protein is considered as a reference protein '> )
(1) Milk (2) Egg
(3) Mutton | (4) Puise
ﬁwﬁéﬁﬂﬁﬁwﬂﬁmﬁﬁuﬁawm@r% ?
() 7= ) v

3) mw 4 o9

19 The first step of management process is —
(1) Directio-n (2) Planning
(3) Checking (4) _Control
T WRew @y wwor & -
(1) Tdm ) e
@) wita @ P

20 The bank, account which carries no interest is —
(1) Savings account (2) Current account
(3) Fixed account | 4) Recurdng_gleposit account

e &% o W e ww T R e -

(1) 99 wm 2) Y @@
() Rrwg wm @ omEd S wmE
ECS3 A] 8 [ Contd...
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Basic colour is —

(1) Red, Green, Yellow (2) Red, Green, Blue

(3) Red, Biue, Yellow | (4) Purple, Red? Green
"Wl T od -

(1) ww, &, dwr (2) ww, T, W

() wa, e, G - @ Frh, W, 'w

22 In which year the consumer protection act was implemented ?

(1) 1985 @ (1088
ﬁ?_ (3) 1986 | @)-"1990 !
! ST W st R W W g 7 |
':"; (1) 1985 @ 1988 ;1
@) 1986 @ 1% |

23  Material resources consists of durable goods and — i
(1) Money (2) Skills and abilities :
(3) Human energy (4) Time |
WE Gur ¥ anh ¥, R A wg -
1) ¥ (2) PywE w§ @

b 3) s et @ aug

EC53 A ] 9 [ Contd...



The flow of 8oods and serviceg in a fémﬂy at a

() Money income @) Real income
B)  Psychic income (4)  Physical income
%ﬁﬁ&wmﬁvﬁmﬁa@aﬁaﬂtweﬁwm, LI
() e apy

(2) 1t May
() 15% Mareh (4" 8% March,
e sy GTRWR g e oy 3
M 24 smae @ 1w

() 15 gg§ (4) 8 4rf

10

[ Contq,.,




P G R

F.P.O. is used on which standardised products ?

(1) Textiles (2) Building Material -
3) Electronic Goods (4) Food Products
. & . T v R T e b 2
1) =& T 2) "W T R T w

f"' (3) TuwRIE wwEw W @) wm w1

! 28 Decision making process is influenced by —

(1) Goals and values (2) Standard ‘of ﬁﬁng.

() Housing conditions (4) Family ‘embers
frofg o7 RN whew = wofm w@ 32
1) w@ @& g™ (2) " @ "eT @ WY
@) o Refy @) Er ¥ T

29 What do you mean by 'cash equivalents' ?
(1) Bank Balitice
(2) Short ferm highly liquid securities
(3) Investments in commodities

(4) Investments in. debentures
T T A s

(1) = 7 oo, af

(2) owmafE Seey o whrfl
(3) =get ¥ fafr

@) = v ¥ TP
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30 The time period when many activities are performed silmdtaneousl\jv_ .

.

called - -
|-

(1) Rest period (2) Peak load

(3) Work plan (4) Work area

TE w9 AR S FE THR A RfRE e g o e ¥, owe ey d -
(1) fasm @ sty (2) @ER @ fimex
@) @ e | @ = dm

31 The maximum effect of fashion and trendS. is 'seen in —
(1) Childr.en (2) . Elderly
(3) Men @) Youth
By o e @1 gty e T ¥ e o ¥ -
(1) =i @ 7= A
() T A @) gaed A

32 The property of fiber to come back to its original length is called —

(1) Blasticity " @) Flammibility
@) Lustre (4) Pliabifi§"

’tﬁasrasgw%mﬁazmﬁt@‘ﬁr{m%#ﬁéﬁtm%—
(1) weEmemy e @) e

G) E @) =T

ECS3 A) 12 [ Contd...
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Worsted fabric is prepared from —

(1) Short woollen fibers (2) Long woollen fibers
(3) Short cotton fibers (4) Long cotton fibers
| T T R PR v & -
O B e e d @ v owh N a
.: 3) @%m%”ﬁﬁ@r (4) w9 auw ¥ W Q
P 34 In the carbonising process the woollen fibre ig cleansed “with —
j (1) NaOH @) H,S0{
’ (3) ' Hot water | @) Soap
BRERT Boar § o Yol @ 9 R &
| (1) NaOH Wity TR\ (2) H,S0, aowie uRie
f G) i @ wgr

35 The diameter of rayon fiber depends on —

(1) Raw material (2) Colloidal solution
() Holes of spinneret @ sbeed of drawing fiber
@ W W . fk o -

() &= ¥l w (2) wieEsw Hw g

() fore % fsf oo @ W w Py & Wy oo

ECS3 A | 13 [ Contd...
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37

38

Out of the following, this is called Javelle water —
(1) Potassium permanganate (2) Sodium perborate

(3) Sodium bisulfite (4) Sodium hypochloride
Prffes ¥ ¥ R Nw T T ¥ -

08 Tefirm T | (2) «Eg TERe

(3) wifean TEEHEE 4) wifsam Frsfﬂﬁﬁns%

The traditional embroidery of Bengal is —
(1) Phulkari () Chikankari
(3) Kantha  (4) Kashida

TMA B Tl werE ¥ -

(1) gpaed ' (2) T

(3) @i ' @ s

The state which is famous for Patola —

(1)-.\ Rajasthan (2) Gujarat -

(3) Bihar - " (4) Uttar Pradesh
Pt w?r- e % fog R ¥ -

(1) e (@) TRE

() fEr ' (4) S W

EC33 A] 14

[ Contd...



IRy e s o s e e e i Ay o SRR
el R ’TZ'."‘.".‘,'."."_'_'f ot e T P T

alcohol is —
(1) Rayon (2) Polyester

(3) Nylon (4)  Polyurethane

40  The fiber that burns with a smell of burnifig-of” hairs is —

(1) Wool (2). "Lifien

(3) Rayon 4) Nylon

ag?igrvﬂw?rwwmﬁrhﬁﬁaém%~

(ORI

@) fom

@) OB
41 Tatting is type of 4. .

(1) Braiding ..y . (2)  Weaving

(3) Felting ) Knitgigg

W Y, gEw o -

(1) af @ 3

(3) Ry 4) Tifem
EC53 A] 15
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42 ‘'Grain' line of fabric represents - :
(1) Direction of fiber in cloth’
(2) Direction of yam in cloth
(3) Direction of seivedge in cloth
(4) Area of cloth
A B oad ¥ -
(1) »® # qg @ R
(2) wae ¥ um & R
) @R ¥ Y W fw

(4) HIR B HABA

43 Growth refers to changes in an individual.

(1) Quantitative

(2) Qualitative
(3) “Quantitative and Qualitafive
(4) Subjective |
@ e ¥ g @ AR e A E
(1) AEIHS |
@ TwE
(3) WEIEE SR T
) mﬁaﬁws

EC53 A] 16 [ Contd...
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'/ 'Cognitive Development' means devglopment--.--of

(1) Sense organs

(2) Muscles and nerves

(3) Changes in thought and intelligence

(4) Creative skills

.Wﬁmﬁlﬁﬂf b Rewa
1) e |

(2) HAteiiE aﬁw‘q’

(3) FEr 9o fs § diad

4) YeETEE e

'Special education' means —

(1) Educating in a rural environment
(2) Educating in_a' public schot_)l

(3) Educating_old people at home

(4) Educating exceptional children

fasr fvem @1 o & -

1)y ity of@y F B wem s
() wew g ¥ A wm s
() I B W W R v

(4) Tafdre et # Rem el wmen

EC53 A 17



46 Development. is: influgncedsby - ... .!‘;"u )
(1) Heredity
(2) Environment
(3) Heredity and _Environment (both) |
(4) Neither Here@ijy ndr Enﬁronment |
R T d ¥
(1) dmgen @ “
@ e & B
) g de s (@ )
(4) = dmrEE Q@ ek T AE A

47 Bralle script' is used.to.educate
(1) Deaf and. Duitib children

(2) Blind"\children

(3) «Learning Disabled children

@), Children with low intelligence

@ R @ oSEm . fmm ¥ @ 3
) 7% 9 X Twa

(@) heaim <=

@) e A

4y w=gfy Tow

EC53.A] 18 [ Contd...
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he period is the 'Time of ‘the:Empty Nest'.
1) Addlescence (2) Middle Age -
(3) Late childhood (4) Old Age
T dE B B smEn B @@ b
(1) TrstrERan (2) HEERI

(3) T TG0 4) dFsEwEl

The concept of 'Devglopmental task' was given. by —
(1) Hurlock .(2). :Gésell

(3) Havighurst | (4)I Pa\}lov
e o w0y T @ -

(1) w (@ e

@) T gE (4) wEEa

50 ‘Cephalocaudal. development' means development from —
(1) General to speciﬁc-_, - (@ Specific to General
(3) Head to foot (4) Central body to extremities
el frw @ o P & B 3
1) wAw & fafiee W@t sk (@) ffe ¥ W B Y

¢) ) & WA AR @) FRg AE ¥ P BN
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S1 At the time of birth Newborn baby's average height is —
(1) 17 to 21 inches (2) 19 to 24 inches

(3) 11 to 17 inches -(4) 27 to 29 inches
e iy W oW & wrw olwe Sl o & -
) 17 % 217 ' @ 199 24"

3 1717 4) 27929

52 The period of 'storm and stress' is —
(1) Infancy | (2) (Ealy childhood
(3) Adolescence ()~ Adulthood
.. T O TE W wW war b,
(1) shymawmar | (2) yHdwEEEn
@) Pevircae | 4) g

53 Ability to adapt one's behaviour according to other is the result of —
()., Social development (2) Motor development

(3) Emotional development 4) Cognitive development
W ¥ IR W ¥ WwER @ oWy oo
(1) wAfse fomm & (2) Tew few Q

@) W REw w @) dfsw frem
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Life span Development begins and ' ends: with =

(1) Birth, Death (2) Conception, old age
(3) Infancy, old age {(4) Conception, deﬁth
s O% few @ wE gura e ¥ -

(1) ==, g | () R, FEER

() fvEEE, gEEE (4) wfERw, g

'S5 Disability in reading is called —

(1) Hemophilia (2) Dyslexia
() Aphasia | (4) Dysgfaphia
oY W s A T |
(1) T (2) Gl
(3) Tk : (4 R

56 The systém of education that is sometimes called the residence of organized

learning out side the formal system is called —

(1) Adult education (2) Adult continuing education

(3) Non-formal education (4) Continuing education

firem o <1 o el oo o % e wife ot T o wE -

(1) ¥ e (2) e wwa fem
3) W dyafe e 4 uaa e

EC53 A] 21
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58

Organizing field day is a —.

(1) Combination of Individual and Mass contact methods
(2) Individual contact methods

(3) Mass contact methods

4) Gfoup contact methbd

¥ Raw omRw w ¥ -

(1) =fRra wd o= dub falei @ aftago

(2) =fmma wud fafr

(3) M dus Rty

@ wE b ffy

A demonstration where worth of an improved practice whose success has
already been established iswdemonstrated is known as —

(1) result demonstration
(2) front line" demonstration
(3) method. demonstration

(4)«_field demonstration

05 U wash wel R Rl aede @ e @ aqwn s &, Raad

ool G & e S g ¥, wewe ¥ -
(1) ufom we=

(2) vwem i weat

@) Tty wes= |

(@) & vasiw
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- "Speaker — speech — Audience' model of communication was given by —

61

(1) Aristotle (2) Westley

(3) Berlo (4) Mclean

IR HT GUR @ Aiew feud @ fear w32
(1) e| @ e

@) @) i

Rural Television Experiment Pfogram' was started.in, —
(1) 1967 | (2) 1968

(3) 1969 ). (1970
‘Ww&hmﬂm’maﬁﬁmgwm ?
(1) 1967 . @) 1968

(3) 1969 @) 1970

A fixed curniculum for testing is followed in — .
(1) Extension Education (2) Non formal Education

(3) Informal Education (4) Formal Education

ﬁwﬁ«f@aﬁ@r%ﬁm%ﬁmwmﬂmwmwm.
G

(1) fgar e | ) el R
(3) ofwfr R @) ol fiwn
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62 Maximum number of flash carg can be had

63

M 20 - 22 (2 15-20
G) 6-8 @ 10 - 12
qﬁaraﬂéﬁafﬂlm_é@T%‘rW%~ o
1 20-22 @ 15 - 20 |

3) 6-38 (4) 10 - 12

fi

The first university to start degree program 'in Home Science vig —
¢y Madrés Universit_y

(2) Delhi University

3) M. s, University Baroda

(4) Punjab University

wﬁﬁﬁmﬁwﬁwmﬁ-ﬁmﬁm'mmﬁmm~

SO e S

2) R fryafemg
G W ww freafrmes (@<=t
(4)_ v farsafaamyg

EC53 A] | Y [ Contd...




al Development in Shanti Niketan was started by —
(1) Ravindra Nath Tagore (2) Mahatma Gandhi
(3) Indira Gandhi (4) Jawahar Lal Nehru

ﬁﬁmﬁmﬁﬁmmmm%mwm?

1) @ wE ER (@) e W
- @) R TR (@) ST W A
65 Which one of the following an example of traditional folkeiedia in India ?
ly (1) Ram Leela | (2) News Paper |
113 (3) Television @ Radio” |
Fra X & @, R THARE ) SR @ S €7 .
O wdm @) o - Ei
@) e @) l

66 Inglividual who are the first to adapt a new technique are called -

- (1) Laggards (2) Early adapters
(3) ~ Innovators (4) Early majority

3 e, o Rl T T B e e W w3, oF el k0
) fre = : (2) M TR

(3) eEruE @) s FEEs
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67 The red colour of meat is dye to presence of —

(1) Myoglobin (2) Hemoglobin
() Myosin (@) Actin
ﬁawmﬁﬁw.ﬁﬁmmﬁm%?
(1) AErefes ()

G) RS (@) uRew

68 The correct age for infroducing weaning food\to an infant is —

(1) 3 month " (2)776. month

3) 'é month ). 12 month
wﬂmﬁmmﬁﬁﬂammﬁaﬁm%-

(1) 3 ufem | @ 6w _
3) 9 W= @ 1zw 1

69 The emulsifying agent found in food js -.
1), Gluten () Trypsin
(3) Lecithin (4) Caffein

RIS S S R SR G

1) T @) fewdw

(3) iR @ e

EC53 A} 26 ~ [Contd...
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The isoelectric point of milk is —

1) 6.6 (2 5.6

(3) 4.6 4 52
/. W B o g ¥

;@/ (1)‘ 6.6 2) 5.6
2

Pl
"f’ 3) 4.6 (4) 5.2

i
o _

"? 71 Anaemia caused by Vitamin B;, deficiency is —

(1)  Megaloblastic (2) Pernicious

! (3) Sickle cell (4) “Microcytic

|

| %%Blzﬁw&ﬁ%mﬁmé’mmmﬁm%-

(1) “riesmies ) wifimg
@) dww dw ¢ @ EEEER

72 Daily requirement of iron for Indian women ag per 2010 RDA is -

EC53 A] 27 [ Contd..,



73 Absomption of carotene requires following nuirient in djet -
(1) Fat
(2) Protein

() Carbohydrate

74  Which of these ig 2'good cholesterol fraction ?
(1) Low Density lipoprotein cholesterol

(2) Very Low Density Lipopfotein

(). "High Density. Lipoprotein

(4) " Triglycerides
ﬁrrﬁﬁa?ﬁmwaﬁqﬂﬁé@aam%?
1) #% W& v e

(2) T w7 HH TSI

@) v= & Wﬂh‘h

@  erfrauges
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(i) Eeg

(i) Leafy Vegetable
(iii) Liver

(iv) Milk

Code :

D Gv) () @ i)
@ i) @ 3@ (@)
@) G (@ v O

@ G GE) Gv) )

- Arrange the following foods in ascending order of their iron content -

mmwﬁﬁmmﬁwﬁwmmﬁ

e w¢ -

() e

(i) R et
(iti) TP

(iv) g&

% :

1 v G @ (i)
@ @) O (@) (@)
() @) @ v @
@ @ @) () Gi)

ECS3 A]
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76 Which of the following is plant proteinase ? v

(1) Pepsin (2) Trypsin
(3) Urease (4) Papain
Foa & @ @b ety siddw & 7

(D e @) ﬁ-’trf%ﬁ
@) Thom @ ﬁﬂ#.

77  Which of the following is a sulphur containing amino acid ?

(1) Lysine | (2) ) Methionine
(3) Phenylalanine (@) Valine
Frer & B weny g o o 32

(1) wrEfw @ Rl
) Rersmafe ) =

.78 The Japanese art of flower arrangement is called —

(1) Ikebana . (2) Origami
(3) Manchurian 4) Haiku
IST & W A9 s e m?r ¥ -

(1) semT @ ot
() =i @) wg
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/ j The following are warm coloufs o0 ! 4 e
(1)  Yellow, orange (2) Blue, green
@) Grey, white 4)  Purple, red
P wf o ¥ - | |
(1) O, | @) i, oz
3) W, W o @ T

According to Engel's law, as family income increases,~the percentage of
income .spent on food - — o

(1) Increases . . (2) Decreases

(3) Remains the same (4) . (Camnot be predicted

(1) Tz 2 @) "= ¢
@) auE e : @ P5 T A w1 g

Which of the following substance when accumulated in the muscles restits

81
in fatigue ?
(1) Lactic Acid () Glucose
(3) Glycogen ' () Cholesterol
ﬁwﬁrﬁgﬁaaﬁwmq‘h&wa@ﬁ%wmaﬁ% :
M) Wew oww @ -
@) WeEww - ) =REw
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1. .

‘,‘:i:
82 A tax whose burden is bome by the person on whom it is levié“g :
\:“.'- .

(1) Indirect Tax (2) Regressive Tax

L
*
W

(3) Direct Tax (4) Progressive Tax

ﬁﬂamw.maﬁaﬁﬁwq@m%fmwwaﬂww%f

Hewl ¥ -
(1) omEy &Y - (2) wRFmY wY
() w@E &Y ' (4) witdw =%

83  Moulded fumiture can easily be rade by —
(1) Iron A (2) Plastic
(3) Stainless steel 4) Wood
o W it oter ¥ W o wmd o
M ?h% T ) wfes @
Gy EwmE (4) wES §

84 Which is the best type of kitchen ?
(1) U shape (2) One walled
(3) Two walled (4) L shape
WER & g VER wrE ¥ 7
() 9 s=r @t @ ‘@& dEr Tw
() U WK TE (@d) ‘T a@E &
ECS3 A| 32 ~ [Contd...




87

86

Which colour reflects maximum light when used on the walls of the

room —
(1) Blue

(3) Yellow

mﬁﬁﬁaﬁwmmﬁﬁﬁ#m%wmwﬁwmﬁm%?

(1) S
()

The hardest stone is —
(1) Sand stone
(3) Lime Stone

IS B T & —

(1) g T

G) T Ty

Market is a place where the following process takes place —

(1) Buying

(3) Buying and selling both

(2) Red

{4) Green

2) v

(4 w

(2)/ Granite |
{4) Slate

(2) 7me
4 we

) Selling

(4) Distribution

Wazwa%aﬁﬁww%mﬁaﬁr%—_

(1) @iy

@) whwd ¥ Redt o

ECS3 A]
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88 One of ‘-the'f:b'a"sic:print:iples*“-ﬁf@ﬂésig‘n s Bl
(1) Balance (2) Colour
(3) Line - 4 Shape.
_%wswaagﬁwmwﬁ,w%- |
(1) wgem (2) w
3) 4) e

89 Burning off of fiber ends when a fabric

is. to\have smooth surface
is called —

(1) Desizing ) Singeing
3) Bleaching

) Scouring
Wi & B (R ﬁwﬁ_ﬁiwﬁ_ﬁwm T &
(1) fanhin @ fifsin
@) frem

90 The tra.nsparency combmed w:th permanent stlﬂ‘emng is achieved by -

(D Mercerlzmg (2) Delustermg

3) Ammoniating @ Parchmentlzmg

() =dugfe & @) Rewefer &
(G) omifrafer 3 @ i 3
ECS3 A]
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The stitch used to hold several layers of fabrics rather than seam is
called —

(1) Even basting (2) Diagonal basting
(3) Slip basting (4) Pin basting

R & <o, mmﬁﬁmﬁwwuﬂ%%ﬁmmm
S &, wewEr & —

(1) w1 < @ frw

@) fww = @ B e

i
i
T

92 The lines that indicate movement are —

(1) Vertical Iines | (2) “Diagonal lines |
(3) Horizontal lines (4) Curved lines :ﬁi
o5 Y@ Wt waw il L | 1
(1) = Yand | @ R YEn T
@) ol @ % e

93  Which type of designs of the world run internationally ?
(1) Street fashion (2) Mass market

(3) Designer wear (4) Haute couture Houses

fayw & fow vaR @ Rem o ®R W weR O ¥ 2
(1) wu=% =1 & Q) T ¥ER
(B)Wqﬁm (4) T P TeAw
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94

95

96

The seam uged to encase raw. edge. and is made of two rows is
called — .

(1)  French seam (2) Lapped seam

(3) Flat fell seam (4) Mock french seam

(1) %= R 2 =
G) wR b fymr (4)'11‘1%%'?:1%1@.‘

Fashion is not affected by consuniers -

(1) Age @) ; Willingness to pay
G) TIncome @ Caste |
ek S T N . ¥

(1) u @) T g @ gy
(3) emg () iy

The filling of weft thread in clogh making process is called .

(D)., Shedding (2) Picking
(3) Battening (4) Tacking
T T WA F O B ok wr gy ¥
1) e - @ Rl

@) i @ W .
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T e T e e | e, |

The weaving because of which. diagonal lines can be seen .on the surface
of cloth is called —

(1) Plain weave (2) Satin weave
()  Twill weave () Pile weave
RWWWWWWW%QWW%¥
M) & g @ i gng

@) feaw T @ g

98 A coarse yam will have yam count between| -
1) 10-12 2) “100- 29
3 15 -2 | @ 20 - 30
T gER (@2) WX un o e e -

1 10-12 - @ 10 - 2

3By 15-22 _ (4) 20 - 30

99  Salt is ladded in dyeing for
(1)  Absorption (2) Exhaustion
() Solubility @ Al of the above. |
T ¥ T s wmy d -
()  sEsivmar ¥ fig @ W R
@) yhem ¥ firg @) swe
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108 Primary emotions are —

(1) Joy, Anger

(2) Pride, Sadness
(3) Shame, Guilt

(4} Guilt, Jealousy
W d@aT ¥ —

ORR- S

2 HE, 3w

@) s, iy

(4) vy, degt

101 Adolescence is a peried of —
(1) Heightened Emotionality
(2) Determination of social responsibilities
(3) “"Sacial isolation

(#)) Dependency
fepeTRrareen '@ sty & -

(1) e o

(2) wrive TRt = P
() wmis® g

(@) WEwET
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103

/,

Down syndrome' is g type of —

(1) Eating Disorder

(2)  Sleeping Disorder

(3) Chromosomal abnormality

(4) Behavioural problem

=T RS o war e 3
(1) @@ d9F e |

@) W (W) wah R

3) NAEERUG 5

.(4) ARRAHS  FHT

The training policies and programmes for the rehabilitation of persons with .
disabilities is regulated by -

() F.C L
@ RC.L

() FLCC1

@ B.C.C. 1
ﬁ:ﬂmﬁ%mﬁuﬁmﬁﬁﬁamﬁWWﬁﬂWMW%—.
(D s & o,

@ o @ e,

() TE g W . e

@ & @ Ao
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164 An educationaf prﬁcess that aimg at, brihging about 3 revision of
' towards family gjye is '

attifi-;\:
.____'—-—-—________-- ..

(I}  Sex Education
(2)  Women's Education
3) Population Education

“) Psychology Education

) AP f
@) aRe B e
G) e fgy
@ T & Trem

105 why started_ the kindergarten' System ?

1) M K Gandhi

(@) Maria Montessori
() L I Roussean
() Freidrich Frogpe
Rt T vy ey T gy
O @ F qig
@ " Gy
G) F X Bt
@) %= vy
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106 The basic system of education was started by -

(1) Rabindranath Tagore

(2) Tarabai Modak

(3) Mohandas Karamchand Gandhi -

(4) Gijubhai Badheks _
aﬁaiﬂrmwnrvﬁ—mﬁ.gaa%eﬁ ?

(1) Wr=me Fie
@) T e
@) deRm FoEe T
@) P qdm
.i! | 107 A major agent fof transmitting culture. ijs"_
.- (1) Society 2)" School -
() Community (4) Family
S & o @ TH-wka & - |
ORI . @ e
@) wprm . @ vfaw
108 When 2 Woman marries two or more men, the marriage is termed as -
(1)  Polyandry @ Pol-ygamy
"(3)  Group marriage (4) Religious marriage
wwmamﬁﬁmﬁmmﬁﬁmmia}a@ﬁﬂw
HEART & — |
(1) w N faw 2 g oot Ryae
; ©) wiew Ry 4) wuihfe Rrar
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109 The facility of vaccination is dope on which centre 9

(1) Aanganwag; (2) Balwadi

(3) Creche 4 Nursery schoo]
= B Awmrr R SF T P 37

D o T () I awy

® wmE @ T

110 Biological, €Conomic, Protective, educational, social, Tecreational, affectiona]
etc. are functiong of —

(1) Marriage @ Comumunity

() Family (4. Society

W, snffes, ,sﬁm,wm,ﬁmwmman&
CaC I |

(1) fras % 2) wEm ¥

®) war % @ wm
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113

- /2 The kind of communication between the villagers and different agencies

is shown by —

(1) Mobility map (2) Ranking

(3) Transect _ (4) Venn Diagram .
e wen fifie oot & wer weaR ¥ ER A wafa S -
(1) iashean -=em T 2 & B9 T

() THE W @) @9 ™ W

Give the sequential order of the symptoms of vitamin A deficiency —
(i) Night blindness

(il Keratinization

(ii1) Xerophthalmia

(iv) Keratomalacia

Code :

1) @) G Gv) @
@ @ @) Gv)edi)
@) O @) @)
@ O @, @ @)
Refm @ @ & ¥ @k # '8 w9 § waked SRR -
ORERGIL

(i) HEF

(iii) Priwdatma

(v) FEmlE

F H

Q) @) G @) G0
@ ® ) Gv) ()
G @ @) G Gv)
@ O G @ G
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114 The cormrect Sequence for ‘estimation of crude fibre :
() Drying and weighing of fiber
(ii) Weighing and defatting of ground sample
(i) Digestion with 1.25% NaOH and ﬁltratitm
(iv) Digestion with 1.25% H,S80, and filtration
que : |
M@ G @) )
@) @ ) (v (iii)
G O @ Gi) G
@O G ) Gy
T W F AT B R mw &
O N B gaErn. Togeq B
(if) ﬁ%gﬁ#@éwﬁmamm_

(i) 1L.25%/NaOH @ qa.—.n q BEAT
().11.25% H,S0, & wamm 4 wrmy
=

M @ G G 6

@ O G @ @

@ O G G )

@ @ G G
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(1) Horizontal and cloge to the body

(2)  Vertical and close to the body

| /{ i (3} Horizontal to the work surface

' (4) Very close to the body

 5-1‘ ¥ o W e - |
(1) W @R W ¥ @ a
@) v R R ¥ um dm
G) =¥ ww ¥ wmEw @
@) WX & 57w W
116 The study. of Various aspects of man in working environment is ~
(1) Body Mechanics (2) Work simplification
(3) Work physiology (4) Work Ergonomics
mwﬁﬁw@ﬁr&wmﬁwﬁmiw%é
() wife ity @) W wrlwo
G) Wl rlreghy OR R
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17 _'Slista_linab.le'.fashic;'m: 'includes‘ :'ﬁ
N @ .. Environment friendly material
(i1) Sbciaﬂy responsible‘ method |
(ii1) Fast changing fashion
(iv) Product that could last multiple seasons
Code :
(1) (), (i) and (iii) are correct
2) (i), _'(ﬁi) and (iv) are correct
(3) (@, (i) and (iv) are correct
(4) (1), (i) and (iv) are correct

yel Hyw # whafwa 3

(@) watexer Fgule weEl
(i) GRS oY ¥ IAEAN &

(iify &g\ ¥ wRaffa a9 o Hw
(iv) “BEE T §5 HIAH 9P TW qH
& - .

M) @, i) T (i) T ¥

@) (i), (i) qam (iv) T ¥

(B) (@), (i) v (v) @@ ¥

@ @), (i) 9 Gv) w& ¥

EC53 A] 46 [Contd...




+

& /18 The most important chemical group in cetton-polymerisss -

(1) amide group | (2)'_ hydroxyl group
F (3) carboxyl é;oup ' (4) suifiric group °
/ Wy Wt ¥ wad e Wt g b
},w O e R —

() weiREd T @ wfw I

119 The srecial marriage Act was formulated in —

< (1)~ 1947 @ 1940
(3) 1954 __ @)\ 1964

fadm e ofubrem =g A a'vfmT T ¥
(1) 1947 | @ 1950

() 1954 Z'(éi) 1964

126 N. I. H. F. W. works in the ﬁeid .6f -
(1) Special Education (2) Health Sector

(3) Women Empowerment (4) Rural Development
U7 9K, U9 T% S (N. L H. F. W.) &1 & a5 & -
(1) fashw e (2) w@RA &

(3) =l wafrmEnor @  weiv R
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121 ‘'Teaching any -class, student's>needs: ang interest also have to be bo;\_
mind. Which of the following dimensions cover this aspect ?

(N Psychological dimension (2)  Philosophical dimension
(3) Evaluation dimension 4 Methodological dimension

oW ¥ v &0
(1) e emm (2) e sy
() T=™iwT eran 4) =Byl s

122 Which of the following statements ig not Correct in reference to educational
~ psychology 7

(@) As a science of soul

(b)  As a science of logic

(¢} As a science of' mind

(d As a science™of consciousness

Select the ansier using the codes given below :

(1) (a) and (@) (2) (b) and (c)

3) Only'(a) @ Only ()
ﬁw%ﬁgaﬁﬁﬁrmwfam%wﬁﬁwmmmaﬁﬂﬁ%?
(@) o few % ey ¥

®) ¥ B ¥ oy A

Rt TR S e R v s e
Rapa B -y - o PR 0

AT

= © e F P ¥ o A

i

ﬁb @ < F Rem ¥ oy

’&3 ﬁmﬁ#vﬁaﬁa}‘#m‘}aﬁ?wmm:

M (@ @R @) @ ©) @R (o)
3) % (a) @) ¥ (b)
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124

The process in which the presence of teacher pupil participation and their

activeness is not essential, is called —

(@) Teaching . _ (b) Instruction

(¢} Training _ (d) Indoc;tn'nation
Select the correct answer using the codes given below :
(1) Only (a) 2) Oaly (b)h

G) ) and (o) @ (2 and (d)

(@ e b)  aghm
© wiemo (@), TR
ﬁwﬁ##aﬁ##aﬁaﬁvwwﬁﬁq
O Fw@ @) @ ()
@) ® e L ® @

In teaching learning process 'the variable which is responsible for bringing
change is called -

(1) Teacher (2) Learner
(3) Curriculum @) Tea;:hing Strategies
Rre—aftrm whpar ¥ TRE B eRadr W e &
(1) Pes ) e

() ureEEyt @) frar sy
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125 Which of the following is not a teaching behavioyr 9

(1) Lassisfara teaching (2)  Autocratic teaching
() Remedial teaching (9 Democratic teaching
LI L g e G SE

(1) sy Ry Ry 2) Wm_&w
@) e fego () vt fimmor

126 A successfyl teacher is one, who is —
.(a)_ Compassionate and disciplinarian
(®  Quiet and reactive
(c) Tolerant and dominating
(d) Passive and active
Select the answer using the codes given above
(1) (a) and (b) @) (©) and (d)
(3) Only (a) (#) Only (¢

BRI R ANE L S Y
@Y Td STy

“®) wi g v

© wEle ud yyeed

@ e oo wh
mﬂ#v&aﬁﬁ#aﬁaﬁ?wmaﬁﬁq~
1) (@ & @) @ (0 & (@
() ¥ (a) @) & (o)

ECS3 A] 50 [ Contd...




Block in the path of learning in the period caused due to —

(@) Mental fatigue

(b) Loss of interest

(¢) Unfavorable enyironment

Select the answer ﬁ'am the codes given below :
(1) Only (2)

(2) () and (b)

3 () and (o)

4) (a), (b) and (c)
A F TS N vEEe F ey & OeTE -

() Ti® e

() o w1 T B

(c) Whyge T,

7 R o G gor @7 T e -
O ¥ @

@ @ o @)

@ ® & ©

@ (), ®) 7 (©)

" EC53_A] 51
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128 Which of the following is g cognitive theory of learning 7 x :
(1) Classical conditioning  theory
(2) Sign Learning Theory
(3) Field Theory
(4)  Reinforcement theory
ﬁw%ﬁgaffﬁﬁwmwﬁmmmmﬁam%?-
W) szl s fear
@ W e
(3) i frgr
@ v R

129 An exchange of facts, ideas, opinions or emotions by two or more persons :
is called = : ‘ |

F
{1 Teaching (2) Communication . E

ﬂw&%aﬁaﬁ%mw’ﬁa@.wwmm
AT Bedmy & - |

G) g @ afrm
ECs3 A 1 | 52
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Thinking and reasoning powers begin to grow in the child at the age
of —

(I 1.5 to 2 yrs 2 2.51t0 3 yrs

;’/ B) 310 4 yrs (4)  After 4 yrs |

§' 1) 1572 9§ @ 2533w
G) 34 @) 4 =% % veng

_; 131 For a teacher lesﬁon planning is impértant to —
(1) achieve ins-tmctional objectives

(2) maintain interest among students

(3) keep students busf,r

(4) show his'own ability

ﬁrm%ﬁrqmﬁwmmam%«

1) SR Ry ¥ R
Q) ®E ¥ Wy T @y % fag wER

(3) mﬁaﬁwmﬁ%m

@) = A draw T F R
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Leérnixig that fesijll'ts"ﬁ'dm- iﬁébdnseiquenées of behavio'lhlr, is
(1) Operans Conditioning

2) Respondent conditioning

3) Classical conditiom'ng

{4) Positive conditioning

@ g sy
@) ogehn s
) TBEE  srgay

2) Hlusion

“) Psycho—neurosis

ﬁwﬁ‘-rﬁgaﬁ#ﬁvmwmﬁmraﬁ%?

M vape 2 wq
EC53 A}
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(1) Menta} health

2 Adjustment

-

e

(3) Mental hygiené (4) Al of .tnl'le ..above

W{Uf?ﬁfrﬁas,ﬁﬁﬁmqefﬂwr%m

wﬁﬁaﬁ;mﬁ%A
M) s Erey

G) i Ry fergrrr
ECS3 A]
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136 For Computer Assisted instruction the expert required is — '\.a\_:

y

(1) Computer Engineer : (2) Programme Writer "‘.‘;I :

(3) System operator 4)  Computer operator

Wﬂmmﬁm%ﬁwmﬁﬁwaﬁﬂmw%%%{'

(1) g aftgar @ ey Y
Q) TEE e (4) B T

137 Which of the following is the example of non-verba COmmunjcation ?

(1) touch (2) "\ Jetter
(3) péste} (4)  newspaper
BT ¥ ¥ Fer sronfes AT B 3o
I wm @ w
(G) Urex () Ry

138 Symbols, are the tools of Communication, in chief symbols we can

incliide), —
(1) Spoken word © (2) Signs

(3)  Gestures @) Al of the above

W, W%W%’,ﬂmmﬁw%mwﬁ%»
M W @ B

3 g 4) Swfsw @
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o /ith the help of Radio, Television and Tape Recorder, a teacher can reach
F he doorstep of each and every student at a lower cost'. This statement
indicates towards the approach —

(1) Hardware Approach (2) Integrated Approach

(3) System Approach (4) Software Approach
i, i e R @ e @ o e s R
4 (1) TSI IURY : @ sfoiks sarm
l,:‘i._

L () Rew wm @) TRIR

i e R e e
ST T TR gt

140 Which of the following is not a part OF designing system approach ?
(1) Identification of entry-behaviour of leamer
(2) Analysis of objectives
(3) Selecting appropriate media
(4) Organizing remedial instruction -
Brafifea & & @ @ yoreh o A evar @A W § 7
(1) Redl =1 9 sEER wwEEE
(2) ey @t fasgmor
(3) SR WEH B w9

(4) STERNw Ly W wEeT
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142

Which of the following audio-visual aid is the best example to

learning structure of multiple discrimination ?
(1) Radio (2) Still picture
(3) Television (4) Record player

ﬁwﬂﬁﬁﬁmmqwmaﬁmmmﬁwwﬁ
W W1 IAEWT & 7

(1) sy (2) €

3) Tefye™ @ T sz

Which of the following is not (@ basic assumption of Computer Assisted
Instruction ?

(1) Instruction for a number of learners at a time
(2) Automatic¢_recording of the learner's performance
(3) Imteraction between teacher and learner

(4) " “Variety in the use of techniques

Prafufas & @ o9 @ T FEERI-T SR Ao wgel T8 7

(1) @ﬁwwmﬁmﬁfﬁﬁ'ﬁg&ﬁmm

@ Rl @ Pl @ @ s e

| (3) Tew w@ et & wer arafwan

(4) wNE & v A fafrea
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CInformation and communication Technology (ICT) includes —

(1) TInternet

(2) Educational television

(3) E-mail

(4) Al of the above

T O T (G AA) ¥ aheRa b
W T |

(2 NMaw grast

(3) ==

4 vogdwm

144 The concept of emotional intelligence: does not involve the ability to —

(1)  Understand emotions
(2) Regulate emotion§
(3) Arouse emotions

(4) Appraise and €Xpress émotions

T g b T A dv ahRm Tl -
(1) W

(2) & @ e B A

G) W S T B

@ W qe-Prefer of st @ @
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145 If adolescent learners are exposed to frequent rejection and tea\
parents and teachers it leads to —

(1) Inferiority feelings
(2) Brain disorders
3) Feeling of fear
(4) Mental retardation

Iy feRsic fvemdl, aﬁmﬁaﬁ%maﬂmﬁwwm%&
A ¥ @ 3@ SO dar/F %

() & W A
@) wRaw faer

@) T W T
(4) WRE® orEdY

146 A teacher who-takes a Constructivist approach to teaching - learning would
encourage learner to —

(1)~ Solve problems
{2) Memorize facts
(3) Recognize ev_ents

(4) Collaborate \mth others

s fvems, it freo - aﬂnm%uﬁrﬁﬁamﬂ@mmﬂm% feraef
H WeEfd Bw § -

(1) @ W % W |
@) v @ 9 W % WY

(3) maﬁﬁwé%ﬁﬁasm
(4)@%1#1&@%%%;%11{
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% “Learning takes place through a process of need reduction. ‘Hull's this

statement is related with —

(1)  Insight theory of learning
©) Reinforcement theory

() Conditioned Response theory
(4) Trail and Error theory

“Eﬁam,mmmaﬁgﬁfa%m%mﬁm%_l”wmwm

et & —

O & S @ H e @
@) v e @

G) == vy frar e @
(4) WO od W H R @

148 The primary accountability of a teacher towards a learner is —

(@) Intellectual development

(b) Allround development

(c) Physical development

(@ Value development

Select the answer using \the codes : _
1) (@) and (b) @ (b) and (c)
(3) Ounly (d) 4) Only (v)
W ew @ el ¥ ofy nYis Wﬂaéé’r % -
@) 9w few -

®) wahiv m..e‘s-‘r; ;o " 'H“*
© RE frerg _ o
@ ™ frw T
@W#WWWWW— 5w
(1) (3 &ir (b) : @ ®) % (0
(3) % (d) 4) @9 (b) -
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149 Any psychological disturbance may lower the efficiency and effect\
of an adolescent learner and can produce - &-; :

(1) A temporary underachievement pattern
(2) A break-up with a close friend
(3) Maladjustment with family members

4) All of the above
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150 According to Gagne ‘most instruction in school subJects 1s concerned with
the learning ‘and «use of -~

(1) Concepts and rules
(2) " “Achievement

(3) Generalization

(4) Feed-back

ﬁ%m%mﬁﬁﬁwmﬂeﬁ&mﬁr@%@m%
it o ¥ -

(1) "y o fam &
() wuwfy @

() wERiEmE
#) To 9w §

EC53 A] .' 62 [ Contd...



- 1
PEAYEN _,1,;‘7.' A
- l

D

EC53 A} 63 [Contd...



ECs3 4 ]




SCHOOL LECTURER COMP EXAM 2013

25-02-2015

PAPER-II(Home Science-53)

n
A S0 Kol Rl Rl Eal) Bl il Kol Rl Kaell Kol oall Kol Kol I Kol Kl R Rl R K] Kol ] KoVl el Kol Il KoVl Il R Rl R R Rl el S I ] ol I I (I I ol O [l el Kl o Y e Il ol Y R el Rl I Ko I ol K el KO Rl R T K e
D_ = A I L I Y = B I ) B e R DN K = E = B B T B B A T R DN T e E=X R R )
Ol~N|olao|lo|d|anfm|s|v|o[n]|o|la|o|d|a|mn|s|v]|o[~o|o|ofdla]ml/s|v]olnfolo|ofd|a|m|st|un]o|n|o|o|S[I[2]2]|S[Z|DIRSRINIQIILRNRIQJNBAS RS Ao HISRRIS S D
Elv|wv|n|n|o|o|o|o|o|o|o|o|O|o|R[~[~[~[~[N[RIN[N[S[o]ofo]|wo|o|w|o]|o|o|d|a|a|a|a|a|afo|a(a|SIIIIIIIT|III2133IISSS(SS[3(3(D(B (2222131211313
7
© I = R N R R I I N A = R I e B L R DN L = R = B B A R B E A K NS
N I B = B BN B B R R N L K K= R N R A R R N e = B B s B R Y L N e e R R N s B R T E N e el K=
- IR B R R A B i B R B B D B Rl K e N B s R s Kl R D R N Kol K K D R R R
ﬁZ22233333333334444444444555555555566666666667111111111111111111111111111111
B_678901234567890 e B B B R R R I K e =) R L B B R R I e B R =1 B B K B A R N R DY e T R0 R =)
o|d|la|m|s|wn|o|~N|dfa|o|d|a|m|t|vn|o|~N|o|a]|o
olo|o|lola]|w|w|d|a]d]| =] =R =]|~|n| ]| ~|0| I L R I R I e K A RS B B B B A B A R L s s N B T S e T T SV RS
I S RS RS 50 1 =g =l ) s ] hand ] hanf ] B Anl Anl Aul Al Anl Aal Ral Al Sat Sut Aol Ao N RN Aol Kol ) Al Kol Hal Kol [agl LY i) iy by Qi) Ruuy Q) vy Reu-g gat) Q') gy gty g’y Gy gty 'y ghafy phary ju g febg J ) Qo) )R] bl ) N 1
7
A_ro7890l234567890123456789%MW%M%%W%W012345678901234567890123456789%““%“%%“%@0
I G I I G B et B Bt RN T s B T R T R B R ] R K R R R N e A R R A e N ) n
G~ [~[N[N|®|o0]|w|o|wo|w|w|o|o|o|da|afafofofofoa|a|Z|3|3|3|3|S|S|S|S|S|AlS (Sl [S[S[S[S[SSS]S S SS9 S|SS|S|SISSISSS[SSSSSSS S S S 3135135158
»n
n
Wimfs|—fe|fonmfs|ofo]fo|sfon]mfoa]afoa]ofoa]mfn]afoa])mfoa] o] fo)sfa]ofoa]mfsiofa]ofalafa]Gfm]sfon]afoa]ofn]afn)ofs|ofn] o] oo sis] oo o m] o fo]oln] o] o] fon]|
D_12345678901234567890
= R I L S R R Y T R K= B R Kt ol L R IR e T R N K= B BT v B R e E N e K K= B N T B e o E N e K= B B T A Sl )
' 1 E S S L S L B 01 B= b= b Baq s haf b By had K] Rl Rl RG] I It Bl Rt Rl Rl Bl R R Rl T )R] T R ] R vl RN RS oty VT (a0 ol N [Pl Rt R RON ol o) RS Il ) 0N ol Ko RS I ) RV N ) RS IR0 Kl RS Bl V) R R v
7
© ofld|la|m|g|v|o|~No|a|o|d|a|m|t|n|vlsto|a]o
= I ) R R R N R o E=1 B B R B R R R DN K T B E=1 Bl BN ) B R A R DN R T =) o|ld|n|m|t|n|o|~N[o]|a|o|d]|a]|m|<|nn
olo|o|lo|lo|o|o|o|lo|o]|w|w|—d|d]|=]|=|=l= A | Q| =] |in]|o|~]o]|o
m777777777oooooooooooooooooooo9999999999111111111111111111111 IR I G I I I I N B R I Y
=]
T_123456789O123456789O1234567890123456789012345678901234567890123456789%&@%%%
Blo|o|o[o|o|m;o|oe|Ss| ||| || F| | D[ |in|v|n|vn]|v]|un[n|n]|e|o|v]o|o|v|o|o|C|o|R|~N[NNN[NR]N|N[~]0|w[w|w]|o|w|w]|w]|w|w|d]|a|la|a|a|a|a|a|a|a|Z2]3]2(2]2]12
7
<
L ) I vy iy S O N Y e Rt Bt T e A el R Y B B K1 B BN T B A P R N S B s = B e S A e R N R e K B S B A P R S T e e et B e S e R D Kl K E =l e N e e P R I R R E B N R N Y
5 e N I I I G I R R I I R B B B I R R B S I R R R R R R R R R B B R R R B B B R B D R R Ead ) D B R Rkl ke R ke ke e R R R R R R Y D Y Y S
7

NOTE : * MEAN DELETED



	Home Science
	School lecturer 2013 - HOME SCIENCE



